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I. one mark question 

1. What is area? 

2. What is perimeter? 

3. Write two equivalent fractions for the given fractions 

a) 
1

4
                                           c) 

1

3
   

b) 
3

4
     d) 

2

3
  

4. Read the  next decimals given below and write in  words 

a) 0.5                                    c) 0.6 

                    b) 0.7                                   d) 0.2 

5. Write the decimals given below. 

a) Zero point three             c) Zero point eight 

b) Zero point zero five        d) Zero point zero four 

6)write the next fractions in deciamls 

a) 
5

10
   c ) 

2

10
  

b) 
2

100
   d) 

3

10
   

7)Subtract the following  

 a)9658-5242  b)7845-3242 c)4580-1256  d)8549-3725  

8) Draw a radius and diameter to this circle 

9) Find the quotient and remainder in these 

a) 6) 76 (   b)     8)  )93 (       c) 6) 911 (       d)   8) 9254 ( 

10) Fill in the blanks with suitable answer 

1)42 ÷ 6 = ........ 

 2) In 24 ÷ 8 = 3, the dividend is ........  

3) In 45 ÷ 9 = 5, 9 indicates .........  

4) In 72 ÷ 8, the quotient is ...... and the remainder. is ..... 
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11) Find the product by estimating multiplicand and multiplier nearest to 10. 

a)  44 × 39    b) 19 × 21 

c)  23 × 28    d) 86 × 53 

12) solve  the following. 

a) 31 × 4  b) 3 8 6 5 − 2 4 3 0  c) 6 4 3 2 + 3 2 6 4  d)   2)88( 

13) Write these numbers in ascending order. 

 a) 679, 368, 796, 697 Ascending order: __________________________ 

  b) 5839, 5093, 5872, 5829 Ascending order: ______________________ 

14) Write the following numbers in the expanded form 

1)6487 = _____________________________________________  

2) 2069 = _____________________________________________ 

3) 5004 =______________________________________________ 

 4) 9678 = ______________________________________________ 

15) Write the succeeding number of . 

1) 3948, ____________    2) 5201, ____________ 

 3) 2829, ____________   4)  7605, ____________ 

16)Write the middle number 

1) 2769, ____________, 2771 

 2) 5490, ____________, 5492 

 3) 3999, ____________, 4001 

 4) 5888, ____________, 5890 

2 marks questions. 

1)  Write these numbers according to the place value and add. 

 1) 6371 + 421        2) 3487 + 5203 

2) A Godown has 2360 quintal of ragi and 3427 quintal of maize. What is the total 

weight of food grains stored in the Godown? 

3) The cost of one metre cloth is 32. What is the cost of 4 metre of cloth? 

4) By considering 'A' as the centre of the circle, draw a circle. 
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5) Write the following numbers in words 

1) 3524 =  

2) 4967 =  

3) 8740 =  

 4) 8001 = 

6) farmer grows 3290 kg of jowar. He kept 1376 kg of it for his house hold use 

and sold the remaining. What is the quantity of jowar sold? 

7) what is fraction? Give an example of fraction. 

8) Add the following using place value chart  

a)  5214 + 2563  b)3259+5412 c)7458+2154 d)3524+4251 

9) Draw 2 circles with centres 'C' and 'D' such that they do not intersect each 

other. 

11) Draw a circle and draw a diameter.  

12) ) Draw a circle and draw a circle.  

13) Rectangle with 10 equal parts is given below. Colour 2 parts with green and 

write the fraction 

          

 

14) a)Draw 
2

4
fraction    b) Draw 

1

3
 fraction 

15) write the numerator and denominator for the following 

a) 
5

6
  b) 

8

10
           c) 

2

8
     d) 

7

4
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III. 3 marks question 

1) Draw a radius to this circle. 

 

 

 

 2) A Draw a diameter to this circle. 

 

 

 

 3) M P Q R Observe the figure and fill in the blanks.  

 

 

 

 

  

 

4) On Independence day 3 chocolates were distributed to each child. If 246 

chocolates were distributed, then how many children have received the 

chocolates? 

5) Multiply  the following by lattice method. 

     a) 45X23  b)245X6  c)65X12  d)85X16 

6)255 children went on a picnic. They travelled in 5 buses. How many children  

travelled in each bus? 

 

M 

P 

Q 

R 

a) centre of the circle.............................. 

 b) radius ..............................  

c) diameter ..............................  

d) Total number of radii in the circle .................... 

 


